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Part A: Grammar & Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words or
phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then

mark your answer sheet.

76. The first rugs ......... by hand, and the finest ones are still handmade.
1) made 2) were made
3) had made 4) have made
77. Stars in our universe vary ......... temperature, color, brightness, size, and mass.
1)in 2) of 3) by 4) for
78. The medicine of ancient people probably consisted of scientific practices, and religious ......... .
1) beliefs 2) believes 3) they believe 4) believing
79. In human beings, hairs around the eyes and ears and in the nose, ......... dust, insects, and other matter from

entering these body parts.

1) prevent 2) they prevent
3) by preventing 4) to prevent
80. Which farmers and which ......... will be the first users of the new technology in developing countries?
1) customs 2) distances 3) regions 4) equivalents
81. Australia has its own cultural ......... , Which is very different from that of Britain.
1) issue 2) identity 3) knowledge 4) observatory
82. When you ......... something such as a report, book, or program, you produce it by collecting and putting

together many pieces of information.

1) relate 2) exchange 3) absorb 4) compile
83. There have been ......... problems on the freeway because of an accident.
1) elementary 2) endangered
3) unexpected 4) unchangeable
84. Shiva’s motheris not ......... in English and cannot use technology, so Shiva is responsible for getting all of the

children logged into their online classrooms before starting her own online work meetings.
1) sociable 2) careful 3) ordinary 4) fluent

85. Tell him you realize he meant well but in future, he should make sure you’re happy with plans that influence

YOu SO ......... .
1) directly 2) actually
3) suddenly 4) incomprehensibly
86. He talked and talked. At one point | thought he would ......... all night.
1) care for 2) keep on 3) figure out 4) stick to

87. Like many other girls, Anna always sought guidance from her mother as she knew ......... .
1) practice makes perfect
2) too many cooks spoil the broth
3) two heads are better than one

4) birds of a feather flock together
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Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which choice

(1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

In the 1990s when the Internet was new, the most popular password was “12345”. According to a (88) .........
study, 20 percent of Internet users still choose a very simple password. The top favorite now is “123456”. Other
popular passwords are “abc123,” “iloveyou,” and “password.”

In terms of data protection, passwords like these are not very (89) ......... . According to computer security
specialists, this is like leaving a house key under the mat at the front door. It is very easy to discover.

Most people should know by now (90) ......... is not a good idea. This is not a new issue and there have been
lots of stories in the media about Internet security. From the very beginning, the Web (91) ......... under attack

by hackers looking for ways to make trouble or money. They enter e-mail or other accounts, steal personal

information, (92) ......... it to empty bank accounts or credit cards.
88. 1) tiny 2) recent 3) dedicated 4) visible
89. 1) generous 2) cheerful 3) effective 4) intermediate
90. 1) and an easy password that 2) an easy password that
3) a password and that an easy 4) that an easy password
91. 1) to be 2) being 3) had been 4) has been
92. 1) they use 2) and use 3) and have used 4) so they use

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.

Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

A few decades ago, professional footballers spent their nights partying. Now, they are much more aware of
the benefits of a good night’s sleep.

The change began in the mid-1990s, when mattress salesman Nick Littlehales contacted the manager of the
Manchester United football team, Alex Ferguson, asking whether he had ever considered how sleep affected
performance on the football field. Interested, Ferguson arranged for Littlehales to give a presentation to his
team. Before long, the whole team had new mattresses and pillows, and Littlehales soon became football’s
leading mattress advisor. In 1998, he supplied mattresses for England’s World Cup team, and at the 2004 Euros,
he created individual sleep routines for every player.

Gradually, club managers began to pay more attention to scientific sleep research, and for good reason. In
2011, a sleep specialist discovered that increasing sleep to 8-10 hours per night massively increased the speed

and shot accuracy of basketball players. Other research shows that a single night of inadequate sleep can

increase the risk of injury, and 64 hours of bad sleep reduces strength, power and balance, and can even cause

the body to eat its own muscles!

93. What does the passage mainly discuss?

1) A complete change in sleeping habits 2) Club managers and their decisions

3) The importance of sleep in professional sports 4) The relationship between sleep and sports injury
94. According to the passage, Alex Ferguson ......... .

1) was attracted to Littlehales’ idea 2) was amazed by his players’ partying

3) had a strange experience in the mid-1990s 4) asked Littlehales to create sleep routines for his players
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95. The word “supplied” in paragraph 2 is closest in meaning to ......... .
1) ordered 2) chose 3) donated 4) provided
96. Which of the following best describes the function of the last sentence in paragraph 3?
1) It introduces the topic of the next paragraph.
2) It corrects a wrong belief which was described in the previous sentence.
3) It adds more information to support what was stated earlier in the paragraph.

4) It explains that the argument given in the previous sentence is not based on facts.

PASSAGE 2:

If you think of the jobs robots could never do, you would probably put doctors and teachers at the top of the list.
It is easy to imagine robot cleaners and factory workers, but some jobs need human connection and creativity.
But are we underestimating what robots can do? In some cases, they already perform better than doctors at
diagnosingillness. Also, some patients might feel more comfortable sharing personal information with a machine
than a person. Could there be a place for robots in education after all?

Education expert Anthony Seldon thinks so. And he even has a date for the robot takeover of the classroom:
2027. He predicts robots will do the main job of transferring information and teachers will be like assistants.
Intelligent robots will read students’ faces, movements and maybe even brain signals. Then they will adapt the
information to each student. It is not a popular opinion and it is unlikely robots will ever have empathy and the
ability to really connect with humans like another human can.

One thing is certain, though. A robot teacher is better than no teacher at all. In some parts of the world, there
are not enough teachers and 9-16 per cent of children under the age of 14 do not go to school. That problem
could be partly solved by robots because they can teach anywhere and will not get stressed, or tired, or move
somewhere for an easier, higher-paid job.

97. What does the passage mainly discuss?

1) Robots in education 2) How robots connect with humans

3) Different types of robot teachers 4) How education will change in 2027
98. The word “diagnosing” in paragraph 1 is closest in meaning to ......... .

1) avoiding 2) warning 3) consuming 4) identifying
99. It is suggested in paragraph 2 that Anthony Seldon’s prediction about robots ......... .

1) does not seem to come true 2) has not been explained properly

3) has made human teachers worried 4) has supporters all around the world

100. Which of the following statements is TRUE according to paragraph 3?
1) 9-16% of children younger than 14 want to work, but not go to school.
2) Human teachers are not available in some parts of the world.
3) Robots can help human teachers feel less stressed or tired.

4) Most of the teachers are not paid enough money.
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Part A. Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words or
phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then

mark your answer sheet.

76. After she ......... the body of her husband, the police asked her to collect his personal things.
1) had identified 2) has identified
3) was identified 4) was identifying
77. In some species of fish, the male, not the female, does the task of ......... .
1) for caring the young 2) the young for caring
3) caring for the young 4) the caring young for
78. Most of the suggestions ......... were made at the meeting were not very helpful.
1) as 2) they 3) which 4) which they
79. Because drawing was so closely related to communication, it was probably ......... art form to develop.
1) early 2) earlier
3) as early as 4) the earliest
80. On August 26, he returned to his laboratory and the following day began his ......... on his electric light bulb.
1) generations 2) experiments
3) combinations 4) inventions
81. The shop also sells artwork like ......... , glass and home decor made by over 80 artists.
1) pottery 2) treasure 3) crops 4) tools
82. What better way of finding ......... for your own garden than by visiting others.
1) solution 2) inspiration
3) experience 4) imagination
83. The Fire Chief ......... his team and said that they had done everything possible to save the girl’s life.
1) defended 2) consumed
3) warned 4) transmitted
84. Items on the menu ......... from Chinese food like hotpot and dumplings to Italian pasta dishes.
1) range 2) choose 3) expand 4) generate
85. Many parents feel that in some way they can offer a more ......... education at home.
1) honest 2) physical 3) suitable 4) repeated
86. What schools teach in a certain subject or at a particular grade level still varies ......... among states and
countries.
1) suddenly 2) actually 3) gradually 4) widely

87. Ed met most of his friends at the gym. Now once a week, they all meet up and exercise together by going for
bike rides around the city. As the saying goes, ..........
1) practice makes perfect
2) easy come, easy go
3) birds of a feather flock together

4) two heads are better than one

021-28425210 : 55 ailia (3 sigw Ak slaial o sbike



telegram.me/medabook _com www.medabook.com

Y docho '/s.’;b A9e< (93
Koo/

Part B. Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which choice

(1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

When you are going to give a book talk, you need to prepare it carefully. First, you should choose a book that
you enjoyed (88) ......... well. You will give a better talk if you feel (89) ......... talking about it. After you (90) .........
on the book, make notes about what you want to say. Use small note cards or pieces of paper. Then practice
talking from the notes until you can talk without reading the notes and without many (91) ......... . At this point,
you should time yourself to make sure your talk is not too long or (92) ......... . If necessary, adjust your talk so

that it takes the right amount of time. Finally, practice your talk with a friend or record it so you can listen to it.

88. 1) because you understood 2) and that you understood

3) or you should understand 4) which you should understand
89. 1) renewable 2) voluntary 3) distinguished 4) comfortable
90. 1) decide that 2) had decided 3) are deciding 4) have decided
91. 1) definitions 2) reasons 3) pauses 4) tips
92. 1) too short 2) as short 3) shorter than 4) the shortest

Part C. Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.

Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

I am a big fan of trying to save the environment, and this month is the WWF (World Wide Fund for Nature)
annual Earth Hour. Earth Hour is an event where you turn off all non-essential lights and power between 8-9
pm; things like your TV, computer and console. However, you do not just sit at home in the dark for an hour.
Instead, people gather in groups and have fun without using power. Things like dancing, fireworks and musical
performances are popular and it is very fun to take part.

Many celebrities also take part in Earth Hour and this year is very important as it is the tenth year of the
project. Earth Hour is not just about saving energy; people involved in Earth Hour have also planted a forest in
Uganda, built solar panels in India and passed a law to protect the sea in Argentina.

I have taken part in Earth Hour every year for the last five years and | have been part of lots of activities at
school and at university. Last year, for example, my university had an outdoor cycle cinema. At the cycle cinema,
the only way to keep watching the film is to keep pedaling your bike, if everyone stops, then the screen turns
off! Luckily, there were many of us to help keep the movie going and we took turns. Although it was very cold
outside at night, we had hot chocolate and blankets for the people who were not cycling. Everyone who was
there had a lot of fun.

93. What is the author’s main purpose in the passage?

1) To introduce a particular event 2) To compare some fun activities

3) To trace the origin of Earth Hour 4) To describe some ways of saving energy
94. According to the passage, people who take part in Earth Hour ......... .

1) are especially interested in protecting nature in Uganda, India and Argentina

2) must not stay away from home between 8 and 9 p.m.

3) use less electricity for a certain period of time

4) turn off all lights for one hour
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95. It is suggested in the passage that at the cycle cinema ......... .

1) the screen turned off a few times 2) not everyone knew how to ride a bike

3) the author had to pedal his/her bike nonstop 4) cold did not make anyone feel uncomfortable
96. Which of the following best describes the author’s attitude towards Earth Hour?

1) Annoyed 2) Uncertain 3) Surprised 4) Amused

PASSAGE 2:

How many planets are there in our galaxy? That is a tricky question to answer. Are there other planets
that support life? That is exactly what the Kepler mission hopes to discover. NASA launched the Kepler space
telescope, designed to find habitable planets, in 2009. So far it has discovered five new Earth-sized planets
beyond our solar system. These planets are hotter than the Earth - much too hot for life as we know it. The
Kepler team predict that they will need at least three years (and possibly longer) to find an Earth-like planet.

The simplest requirement for a planet to have life (carbon-based life like on Earth) is for there to be liquid
water (not frozen or gas) so the distance from the planet’s sun and therefore temperature are important. There

also needs to be the correct amount of air. If a planet is as small as Mars (half the size of Earth) its weak gravity

means that it cannot hold on to air molecules. If a planet is Neptune sized (four times bigger than Earth) it has

very strong gravity and too much air. So size matters too.

The cost of the mission is approximately six hundred million dollars. It is scheduled to observe until 2013 but
this could be extended. Will we be sad if we discover we are alone in our galaxy or happy if we find that we
share it with other life forms?

97. What does the passage mainly discuss?
1) Features of five new Earth-sized planets 2) An endeavor to find Earth-like planets
3) Our solar system and its planets 4) Making a space telescope
98. The passage suggests that the Kepler mission ......... .
1) was inspired by another space mission
2) was not finished immediately after it started
3) did not seem to be as successful as other space missions
4) found planets with the same temperature as that of the Earth
99. Which of the following best describes the function of the underlined sentence in paragraph 2?
1) It describes a situation where the condition mentioned in the previous sentence cannot be met.
2) It provides the definition of a word mentioned in the previous sentence.
3) It provides a solution to a problem described in the previous sentence.
4) It draws a conclusion from the previous sentence.
100. There is enough information in the passage to answer which of the following questions?
1) How many planets are there in our galaxy?
2) How can NASA reduce the cost of the Kepler mission?
3) What characteristics does a planet need to have in order to be able to support life?

4) Will we be sad if we discover we are alone in our galaxy or happy if we find that we share it with other life forms?
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Part A. Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words or
phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then

mark your answer sheet.

76. Wow! Look at the prices! We wouldn’t be able to buy anything if we ......... a large income.
1) not have 2) hadn’t had
3) wouldn’t have 4) didn’t have
77. Heisn'’t ......... some of my friends, but what he says is often more original than you normally hear.
1) talkative 2) more talkative
3) as talkative as 4) the most talkative
78. ......... are about 350 species of sharks, and although they all eat meat, only a few species will attack people.
1) They 2) There 3) Those 4) That they
79. The eastern bluebird is ......... attractive bird native to this continent by many bird-watchers.
1) considered more 2) considering more
3) considered the most 4) considering the most
80. There’s not much in the way of ......... in this town — just the cinema and a couple of coffee houses.
1) entertainment 2) arrangement
3) relationship 4) destination
81. Besides that, getting the right amount of nutrients can help the body fight against infection and various ......... .
1) diseases 2) sections 3) identities 4) devices
82. At each visit, children were ......... and details of their health, diet and home environment were recorded.
1) decided 2) weighed 3) respected 4) supplied
83. They failed to provide the information ......... of them.
1) achieved 2) demanded 3) surrounded 4) regarded
84. | left the meeting feeling worried, and ......... about what to do next.
1) uncertain 2) unhelpful
3) unchangeable 4) incomprehensible

85. Sara hopes that her professional life will be mostly back to normal a year from now — no more Covid-19

patients; no more masks which slow communication with customers who may be confused or ......... of hearing.
1) lazy 2) poor 3) weak 4) hard

86. Firefighters have been called to ......... the fire in the city center.
1) grow up 2) put out 3) check in 4) give off

87. Samantha: He tells me he loves me every day. But he didn’t do anything for my birthday, and he still doesn’t
want to meet my parents.
Claire: Careful, ......... .
1) two heads are better than one
2) out of sight, out of mind
3) actions speak louder than words
4) birds of a feather flock together
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Part B. Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which choice

(1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

People tend to have definite opinions about texting. There are those (88) ......... , and those who hate it. Among
the haters, some have expressed their opinion in very strong terms. One journalist said that “texters are doing to
our language what Genghis Khan (89) ......... to his neighbors 800 years ago. They are (90) ......... our punctuation,
our sentences, and our vocabulary. And they must be stopped.”

This is not the first time people have said that technology was bad for language. In the 15th century, some

scholars opposed the (91) ......... of the printing press. Common people shouldn’t read books, these scholars
argued, or the language might begin to (92) ......... their common ways of thinking and speaking.

88. 1) that love them 2) they love it 3) who love it 4) whom they love

89. 1) was done 2) had done 3) was doing 4) did

90. 1) informing 2) wondering 3) seeking 4) destroying

91. 1) stage 2) diary 3) invention 4) pollution

92. 1) reflect 2) remind 3) boost 4) attend

Part C. Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.

Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

Passage 1:

Brainstorm a list of all the things that make you happy. Just write whatever comes into your mind without
thinking about it too much. Now look at that list and tick all the ones that are fun or enjoyable. Probably most of
them, right? So, if you could spend most of your time doing all this fun stuff, you would be really happy, surely?

Well, maybe not. For most people, only doing things for fun is not enough for long-term happiness. That is
because, according to author of Happiness by DesignPaul Dolan, your happiness depends on a ‘pleasure-purpose
balance’. If most of the things on your list of what makes you happy fall under the category of ‘pleasure,’ then
that might be what you think makes you happy. But what will actually make you happy is balancing them out
with activities that give your life purpose.

We tend to know straight away if something is enjoyable, but knowing what brings meaning and value
requires more thought. For example, most people will say that air pilots have jobs with clear purpose. They are
responsible for hundreds of people and fly all over the world. But in reality, their day-to-day work might involve
spending time in boring hotels or stuck in airports waiting for flights, and routine actions they have performed
hundreds of times. Those activities might not feel very meaningful — and they are probably not fun either. Just
like everyone else, the pilot needs balance in their work and life to be happy.

93. The author’s main purpose in the passage is to discuss ......... .
1) why doing fun activities is enough for our happiness 2) what actually makes people happy
3) the reasons for happiness 4) the effects of happiness
94. According to the passage, in Happiness by Design, Paul Dolan ......... .
1) answers a question 2) describes an experiment
3) supports an old way of thinking 4) provides interesting examples
95. The word “requires” in paragraph 3 is closest in meaning to ......... .

1) needs 2) receives 3) makes 4) depends
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96. It is suggested in paragraph 3 that air pilots’ work ......... .
1) never makes them want to give up
2) does not involve the repetition of certain tasks
3) may not be as meaningful as people commonly think

4) is considered to be both fun and purposeful by pilots themselves

Passage 2:

Netball is particularly popular in the UK, Australia and New Zealand and I have played this wonderful game
since | was at primary school. It is a team sport which is similar to both basketball and handball. There are seven
players on each team and they each wear a bib which shows the name of the position they play. Players must
throw the ball to one another and the aim of the game is to pass the ball to the ‘Goal Shooter’ or ‘Goal Attack’
who can shoot the ball into the net to score a goal. However, the key aspects of netball are that you cannot
bounce the ball and you cannot move your feet when you have the ball. m is called the footwork rule and it
can be quite difficult to grasp for young children playing the game! A full match lasts for one hour and in a single
match often about 100 goals are scored which shows what a fast-paced and exciting game netball is!

Netball is typically played by women and girls. However, at many universities, there are mixed netball leagues
in which teams must have both male and female players. In the UK, there are many different schemes to try to
inspire people to play netball. One such scheme is called ‘Back to Netball’ which encourages women who have
not played netball since they were at school to rediscover their love for the sport and get back on the court!
Walking netball is another variation of the sport aimed at older women and those who want to exercise in a
gentler way. So, why not watch a video of netball online and then have a go for yourself?

97. What is the author’s main purpose in the passage?
1) To explain the rules of netball
2) To compare netball and walking netball
3) To give information about a specific sport
4) To explain the reasons for the popularity of a particular sport
98. The word “this” in paragraph 1 refers to which of the following?
1) That you cannot bounce the ball
2) That the aim of the game is passing the ball to the ‘Goal Shooter’
3) That you are not allowed to move your feet when you have the ball
4) That it can be quite difficult to grasp for young children playing the game
99. It is stated in the passage that ‘Back to Netball’ is a plan that ......... .
1) is about a gentler way of exercising
2) makes online videos of netball available
3) motivates UK women to try netball again
4) supports both male and female netball players in the UK
100. There is NOT sufficient information in the passage to answer which of the following questions?
1) How long does a full netball match take?
2) Which sports can netball be compared to?
3) How do netball players show their position in the match?

4) Why is walking netball safer than all the other variations of netball?
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Part A. Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words or
phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then

mark your answer sheet.

76. As soon as we got on the plane, the pilot told every one of us on board ......... again.
1) we get off 2) that get off
3) to get off 4) get off

77. During the 17th century, more and more people began to realize that they could test their scientific ideas by

designing a relevant experiment ......... .

1) and seeing what happened 2) to see what was happened
3) and what happened to see 4) for seeing happened what
78. He was very helpful and gave me ......... useful advice about buying a car.
1)a 2) an 3) many 4) some
79. The couple before her had found a way to make it work ......... their differences.
1) so 2) despite 3) although 4) while had
80. Suddenly, someone shouted, “Help! This man is going to kill me,” and the man ......... got on a motorbike.
1) carefully 2) directly
3) immediately 4) unexpectedly
81. Fortunately, the needs of the whole community, and not just the wealthy, are ......... by our public health-care
system.
1) fed 2) kept 3) made 4) met

82. A: Why do you think Ted is emotional?

B: Because all his friends are so.

A: Oh, yeah. ......... .
1) Actions speak louder than words 2) Birds of a feather flock together
3) Too many cooks spoil the broth 4) Practice makes perfect
83. While taking part in the science experiment, students will ......... answers about why bacteria grow quicker

in damp areas.

1) seek 2) require 3) achieve 4) exercise
84. we'll ......... how to do the project when we’re all together.

1) look for 2) depend on

3) figure out 4) make up
85. There were ......... everywhere in the park saying, “Keep off the grass.”

1) sites 2) notices 3) demands 4) images
86. The city and its suburbs are so interesting, with ......... attractions and art museums.

1) recreational 2) bilingual 3) invisible 4) wild
87. The homeowners want to ......... the closed-in garage to a third bedroom for their son.

1) dedicate 2) transmit

3) exchange 4) convert
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Part B. Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which choice

(1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Della had a sad experience (88) ......... driving home last night. She traveled along the dark, winding road (89)
......... toward her home. She was only two miles from her house when she saw a glimmer of light in the road.
The next thing she knew, she heard a sickening sound and realized she had (90) ......... an animal. The light, she
realized, had been its eyes (91) ......... in her car’s headlights. Della stopped the car and ran back to see what she
had hit. It was a handsome cocker spaniel with blond fur and long ears. As she looked more (92) ......... at the still

form, she realized there was nothing to be done. The dog was dead.

88. 1) for 2) by 3) during 4) while

89. 1) led 2) that led 3) to lead 4) which it led
90. 1) lost 2) caught 3) hit 4) quit

91. 1) endangered 2) generated 3) reflected 4) informed
92. 1) carefully 2) safely 3) widely 4) accidentally

Part C. Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.

Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

For some of us, playing computer games can be considered a ‘guilty pleasure’ which we may feel embarrassed
by or feel we can’t discuss properly. Unfortunately, gaming has had this unnecessary stigma ever since arcade
machines. Some of us just don’t understand why video games are so attractive. But have we ever asked why or
even tried explaining our love for the art beyond the simple fact that it’s fun? Isn’t there more to it than that?

The short answer to this, is ‘challenge’. Have you ever watched a film or listened to a piece of music? Of course

you have, who hasn’t! Our enjoyment from these comes from the stories, the music, the lyrics, the characters,
the twists and the turns along with how we respond to them on an emotional level. A big reason why watching
a film or listening to a song is so common for us is because it’s easy! Push a button, plug in your headphones and
you’re away. Media in this sense is given to us as one without any input from ourselves.

Now imagine if you were watching a film and it suddenly stopped. You as the viewer are then tasked with
controlling the world, pushing characters along, resolving conflicts, making the important decisions and finally
progressing the story to a conclusion. Sound fun? Well, that’s ultimately what a game is. We are in charge of
the story.

93. What does the passage mainly discuss?
1) Why playing computer games seems interesting
2) Effects of computer games on people playing them
3) Positives and negatives of people playing video games
4) Differences between watching TV and playing video games
94. What is the function of the first paragraph in relation to the whole passage?
1) It introduces the question which the passage seeks to provide an answer to.
2) It summarizes the views of those people against computer games, as discussed in the passage.
3) It gives a brief explanation about the beginnings of a popular event the passage generally discusses.

4) It generally describes an art form that resulted in computer games later discussed in detail in the passage.
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95. Why does the author mention “a film” and a “piece of music” in paragraph 2?
1) To explain why they are so popular
2) To show how they were replaced by computer games
3) To prove that whatever engages our senses is attractive
4) To use examples to try to explain the main point of the passage
96. What is the main purpose of the phrase “Sound fun?” in paragraph 3?
1) To ask the reader for help
2) To get the reader’s agreement
3) To make the reader a bit confused

4) To make the reader change his/her mind

PASSAGE 2:

OK, I’'m going to talk about the influence of nature versus nurture. And I'd like to begin by stating that, as |
see it, by far the strongest influence has to be ‘nurture’. The reason | think this is that | believe the way we’re
trained in the home environment will have a much stronger influence on how we behave than anything that’s
in our genes. | mean, some people will argue that our abilities are determined pretty much exclusively by our
genes, so if your father was a great scientist with a natural ability for mathematics, then there’s a pretty good
chance that you might inherit that same ability.

Personally, | think it’s not acceptable to suggest this. | think that when a parent has a particular strength,
or interest, or achieves something wonderful in a particular field, then the chances are that when they have
children, they will try to transfer to the children the same kind of interest; they will pass on their knowledge,
their passion for the subject, and so they are quite likely to engage the child in activities related to that field,
perhaps for quite a lot of the child’s time. And it’s as a result of this that the child may also develop strengths or
abilities in the same field. | absolutely deny the idea that nature endows us with these inborn abilities. | mean,
you can be born with the best natural musical ability in the universe, but if you don’t practice the piano, then
nothing will come of it. On the other hand, | think you can teach people to do just about anything, so long as
you dedicate time and give the child the right kind of encouragement, or put them in the right situation.

97. Which of the following words or phrases is the word “nurture”, as it is used in the passage, closest in

meaning to?
1) Pre-determined ability 2) Interest in learning new skills
3) The abilities stored in our genes 4) Learning through training and experience

98. Which of the following best describes the author’s attitude towards the belief of those people who argue

that our abilities are determined pretty much exclusively by our genes?

1) Praise 2) Agreement 3) Doubt 4) Disapproval
99. What does the phrase “that field” in the passage refer to?

1) What interests the child 2) What a parent is good at

3) What is inborn in a child 4) What is needed to make a child successful

100. According to the author, if a baby girl is born with an excellent ability to play the piano, she ........ .
1) will for sure turn out to be a great pianist
2) needs her parents’ emotional support, more than anything else, to succeed
3) has one of the necessary conditions to become a great pianist, but this is not enough

4) could then transfer this inner ability to other fields only and only if those fields are art-related
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Part A: Grammar & Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words or
phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then

mark your answer sheet.

76. His plan was to buy pieces of chocolate ......... them to his classmates for two cents a piece.
1) who resold 2) and resell
3) but resold 4) by reselling
77. Lisa would never love him again after hearing all the wrong he had done to her, ......... ?
1) had he 2) would she 3) hadn’t he 4) wouldn’t she
78. As soon as the teacher turned her back to write a question on the board, the children ......... talking with one

another at the same very moment.

1) started 2) had started 3) were starting 4) have started
79. You could tell by the look on his face that something terrible ......... .
1) have happened 2) was happened
3) has been happened 4) had happened
80. The things you should do in my absence are not in any ......... of importance, so you can begin with any one

of them that you want to.

1) range 2) fact 3) rule 4) order
81. Of course you found a $10 on the street and ......... spent it — easy come, easy go!
1) carefully 2) gradually 3) luckily 4) immediately
82. Julie always says she'll ......... the school, and she never does, so | doubt she will this year. Actions speak

louder than words, after all.
1) donate to 2) consist of 3) depend on 4) provide with

83. Modern ......... are often lined with layers of absorbent material and sheets of plastic to prevent pollutants
from going into the soil and water.
1) liquids 2) landfills 3) fossil fuels 4) air conditioners

84. The man who ......... this company a hundred years ago never thought it would one day become so great in
size and importance.
1) compiled 2) caused 3) founded 4) achieved

85. Jane and | talk about lots of things, but | just can’t remember what we were discussing on that ......... time

that you have in mind.

1) fresh 2) confused
3) particular 4) distinguished
86. The project has been a great success, thanks to our ......... staff. I'd like to thank you for all the hard work you

have put into it.

1) dedicated 2) systematic
3) elementary 4) magnifying

87. If you want to make friends, you can’t ......... to yourself all the time. Start meeting people!
1) hang 2) leave 3) shut 4) keep
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Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which choice

(1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

The chart gives data about the differences in the annual number of men and women of three age groups

who (88) ......... heart attacks in Europe. It is clear that as people (89) ......... older, the risk for heart attack increas-

es; and it can also be seen from the chart that heart attacks often happen (90) ......... men rather than women.
At the age of 29 to 44, 123 thousand female patients have heart attacks, (91) ......... the figure for women is

only 3 thousand. Remarkably, from 45 to 64 years old, there are 424 thousand men who undergo heart attacks

and 136 (92) ......... was the number of women suffering from the same medical situation.

88. 1) burst into 2) make up 3) identify with 4) suffer from

89. 1) grow 2) cure 3) convert 4) consider

90. 1) to 2) for 3) at 4) with

91.1) as 2) while 3) no matter 4) whether or not

92. 1) heart attacks 2) thousand 3) difference 4) years

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.

Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

A team of social psychologists has spent six years studying the reactions of people in cities around the world
to different situations. The results show that cities where people have less money generally have friendlier
populations. Rio de Janeiro in Brazil, which is often known for its crime, comes out top, and the capital of
Malawi, Lilongwe, comes third. But what makes one city friendlier than another?

The researchers[!] who did the study say it has got more to do with environment than culture or nationality.
They carried out a study into the way locals behaved towards strangers in 23 cities around the world. The team
conducted their research through a series of tests, where they dropped pens or pretended they were blind and
needed help crossing the street. The study concludes that people are more helpful in cities with a more relaxed
way of life such as Rio. While they were there, researchers received help in 93 percent of cases, and the percentage
in Lilongwe was only a little lower.

However, richer cities such as Amsterdam and New York are considered the least friendly. Inhabitants of
Amsterdam helped the researchers in 53 percent of cases and in New York just 44 percent. The psychologists
found that, in these cities, people tend to be short of time, so they hurry and often ignore strangers.

93. What is the best title for the passage?
1) The World’s Friendliest Cities 2) Psychology of Friendly People
3) Friendliness in Different Cultures 4) Friendliness: A Common Human Behavior

94. According to the passage, if you are unable to see but need help, where are you the least likely to get help
from people when you need it?

1) Rio 2) Lilongwe

3) New York 4) Amsterdam
95. The word “it” in paragraph 2 refers to ......... .

1) study 2) behavior

3) environment 4) friendliness
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96. The passage provides enough information to answer which of the following questions?
1) How did the researchers manage to measure people’s wealth in the cities studied?
2) What method did the researchers use to collect data for their experiment?
3) How many cities were excluded from the study reported in the passage?

4) What kind of people are more likely to get the help they ask for?

PASSAGE 2:

What’s the most useful way of learning a language? Is it writing essays or doing grammar exercises? The
answer is clear — whatever you like doing. Evidence shows that the most successful language learners are those
who find something they like to do with their chosen language and do it again and again. And it doesn’t really
matter what the activity is.

Some of the clearest evidence of this has come through research into reading. Stephen D. Krashen, a
well-known second language researcher, decided to look at how well language learners who read for fun did in
grammar tests. He discovered that they did better than people who went on courses and it wasn’t important
what books they read.

To prove this, he gave students books from a series called Sweet Valley High. These are popular books about
teenage life. Although the books’ literary quality may not have been high, the readers made good progress in
vocabulary, reading, and speaking tests. In a separate case study, a girl improved her writing so much that her
angry teacher accused her of copying. The only explanation she had was that she’d started reading regularly.
97. What is the primary purpose of the passage?

1) To introduce a researcher and his recent findings
2) To prove the inaccuracy of a commonly held view
3) To answer a question related to learning a language
4) To describe one of the most important research findings
98. It can be concluded from the passage that the people who took part in Krashen’s study ......... .
1) spoke English as their native language
2) had already learned a second language fully
3) liked to read books with a high literary quality
4) were interested in reading in a foreign language
99. Why has the author mentioned “a separate case study” in paragraph 3?
1) To argue that reading is useful for girls as well as boys
2) To show that practice in reading affects one’s progress in other language-related areas
3) To prove that giving learners practice in writing is as effective as giving them practice in reading
4) To conclude that writing in a foreign language can make people turn to reading text more regularly
100. Which of the following statements is supported by the passage?
1) If second language learners find something fun to do in each of the four language skills, they soon realize
that reading is the most enjoyable language skill.
2) Language learners learn best when their teachers focus on one basic language skill most of the time.
3) People can learn a language faster if and only if they read passages as often as possible.

4) The best strategy to follow to learn a language may vary from person to person.
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Part A. Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words or
phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then

mark your answer sheet.

76. The police decided to put speed cameras along the road because ......... seven deadly accidents in the past
year.
1) they had been 2) there had been
3) there have been 4) they have been

77. A language family is a group of languages ......... and similar vocabulary, grammar, and sound systems.

1) with a common origin
2) they are a common origin
3) and an origin common

4) are an origin that common

78. We spent a week in Istanbul, and then a month in a village. The villagers ......... were very welcoming.
1) they 2) them 3) themselves 4) who they

79. Penicillin acts both by killing bacteria ......... their growth.
1) so preventing 2) or to prevent 3) and by preventing 4) and it prevents

80. Living in a cold or damp home increases your chance of suffering from coughs and chest ......... .

1) habits 2) attacks 3) varieties 4) infections

81. Show an elephant a mouse and it will keep on moving, but angry bees could drive a whole.......... to run away.
1) herd 2) tool 3) plain 4) region

82. The child may ......... into tears if an unknown person hugs him or if left even momentarily in the care of an

unfamiliar person.

1) figure 2) burst 3) convert 4) measure
83. 80% of parents think that television is ......... to society and especially to children.
1) strange 2) domestic 3) powerful 4) harmful
84. To learn to speak a language ......... , you have to live in the country where that language is spoken.
1) increasingly 2) interestingly 3) properly 4) probably
85. “Do you remember much about the accident?” “No, it all happened so ......... ."”
1) calmly 2) carefully 3) suddenly 4) voluntarily
86. Then there is the view that caring about the environment is not necessary because this is something that
will ......... itself, which is not true.
1) look after 2) make up 3) consist of 4) stand for

87. My old friends promised they’d call me every day after | moved away, and that we’d stay as close as ever. But
it’s been a few months since | left, and | haven’t heard from them at all. | guess it’s true when they say ......... .
1) easy come, easy go
2) practice makes perfeet
3) out of sight, out of mind

4) don’t count your chickens before they hatch
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Part B. Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which choice

(1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Research suggests that the best way to carry out certain kinds of projects is to have a number of people
working together on a team. The main reason why a team is (88) ......... a single person is that a group of people
has a wider (89) ......... of knowledge and skills. In addition, with more hands and minds focused on the project,
it (90) ......... more quickly. Moreover, studies show that working as a team also has an effect on creativity. People

who work in a group tend to take more risks than people working alone. Each person in the group feels freer

to experiment with a variety of solutions because the group as a whole is (91) ......... , and not the individuals
init. (92) ......... , the group can solve problems better.
88. 1) good for 2) as good as 3) the best of 4) better than
89. 1) circle 2) range 3) purpose 4) section
90. 1) completed can usually be 2) can usually complete
3) can usually be completed 4) can complete and usually
91. 1) valuable 2) exact 3) general 4) responsible
92. 1) However 2) As a result 3) Although 4) Whereas

Part C. Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.

Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

Vegans can be hard to cook for. Like vegetarians, they do not eat meat. But they also rule out other animal
products, like eggs, milk and sometimes even honey. There are different reasons people choose to be vegan, like
animal welfare or as a way to eat healthier. But there is another reason that has been getting a lot of attention
recently. Last month, a big study came out looking into the effect our food has on the environment. And it found
that eating less meat is one of the most important things we can do to help the planet. You see, a huge amount
of the earth’s resources go into raising livestock for meat. In some places, forests are cleared to make space for
animals and to grow their food. m also use a lot of water. And these ones in particular create a lot of carbon
emissions. Cows are responsible for about 16 per cent of the world’s greenhouse gas emissions. The study says,
to prevent permanent damage to our planet, the average world citizen needs to eat 75 per cent less beef, and
50 per cent fewer eggs. Of course, not everyone is going to go vegan or give up eating meat completely. But
swapping your beef for beans or your chicken for chickpeas every so often might not be such a bad idea.

93. What does the passage mainly discuss?
1) Some animal products 2) The importance of eating less meat
3) Common interests of vegans and vegetarians 4) The relationship between our food and our health
94. Based on the information in the passage, which of the following is NOT one of the reasons why people
choose to be vegan?
1) They want to be unique. 2) They want to support animals.
3) They want to have a healthier diet. 4) They want to help protect the environment.
95. The word “they” in the passage refers to ......... .

1) animals 2) forests 3) resources 4) carbon emissions
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96. It is suggested in the passage that raising animals for food ......... .
1) cannot be prevented because it is a moneymaking business
2) is as important as growing beans and chickpeas
3) is not a bad idea despite what studies say

4) has harmful effects on our planet

PASSAGE 2:

Avocado’s recent popularity growth is hard to ignore. As | have recently discovered from my recent trips
around Europe, avocado is enjoying popularity beyond my native country. It is now on offer in most cafés and
restaurants, especially when paired with poached eggs to create a delicious breakfast/ lunch. On my recent trip
to Berlin | was delighted by avocado chocolate cake which seemed like a healthier and more nutritious option
than the normal version. | bought it in a vintage bike café. | tried it and it was delicious. Another day | went to
a coffee place where the menu also offers avocado in all shapes and forms. My combination of toast, avocado,
tomato jam and hummus was fantastic. It got me thinking: is this avocado craze explained by scientific facts? So
I decided to do a bit of research: what health benefits does avocado have to offer?

Well, there are quite a few reasons why avocado is described as a ‘superfood’. Avocado is packed full of
important vitamins and minerals. It has numerous health benefits. In many ways it helps us stay beautiful. It
helps our digestive system which means it aids weight loss. It keeps our skin looking healthier and younger and
our hair strong. It also has positive impact on the inside of our bodies! It helps prevent heart disease because
it helps us maintain low cholesterol levels. It also strengthens bones and helps our blood sugar levels stay at a
healthy level.

97. What does the passage mainly discuss?

1) An interesting incident

2) Different types of avocado in Europe

3) A popular fruit and its advantages for health

4) Why a type of fruit is described as a superfood
98. Which of the following best describes the author’s attitude towards avocado?

1) Emotional 2) Positive 3) Balanced 4) Concerned
99. According to the passage, the writer ......... .

1) went on a trip to do research about avocado

2) tried avocado only in his/her favorite place

3) decided to collect information about avocado

4) introduced new combinations of avocado to other people on his/her trips around Europe
100. According to paragraph 2, which of the following is NOT TRUE about avocado?

1) It keeps our blood sugar at a safe level.

2) It contains important vitamins and minerals.

3) The inside and the outside of our bodies are influenced by it.

4) It cures heart disease by controlling cholesterol levels.

021-28425210 : 55 alia (0 sigw 2k slaial 5o sbike



telegram.me/medabook_com www.medabook.com

ph o Sl wp 4 p5 S wls Tas Ay
S Sl gl b gl o LS Sl o) elisls
D4 03 yaw LIL aseis

0235155 (1) w0 ,0 a5 burst into tears .S 5 5l cus opl jo
ool 00 b Jlga s sl T L

Sl Oppsl & Waktas cpally jlacys Ao Fuss -AY
Sl pae 5065 (ol y ijm 5 ansl>
ol ¢ S« Lz ‘f (s

oot

coxe (V)

REOURTEL J

poo;wwg&zgdwl sl ¥ —-A¥
Cuzmo 0b) o 4 45 (5985 0 Wb WS ol 1) Gby S
WS (S5 09 o0

S enl Al [y loaryl3 sk 4 (1)

Yz () oo S5 4 (¥

Sylo Hbls 4 Bolas 5l ol 5z LTy seall ¥ -AD
b3l sl SLSL Lo jieles iy o

wss L(Y) 2> L el (1)

syl (£) e oS (F)

Socs @Y 45 310 2929 o2 Sl cal eam Yase -AF
Sl 5oz Lo el 92wl oy Lo 4 lols>
oSl JuSes sl (¥ 3 oS eadle (1)

OO S i () 5o deses (%)

Sl ) am a8 wols Jg8 el gesad yliwgs Y2 —AY
Joo Lo aSinl g wiip S5 e 4 g9y oS OB JE e
Plad) (e 45 (g 5l ol iz (g piler (orewo o2 L ddien
Gy ol o35 oo S5 ILals T 51 (6 a5 ad g Consl LSS
B9y 0030 3l aS T, 05 o 5l 0 gS e 45

Sysh oL 1, oo)SToL ( \

Sl 5855 5 31 53585 S (¥

Sy 000 5l aS e o5 o Y

3led oo sl A1) 4z e (2

Ced j9ls
Elgl sans polopll sly oy e a5 weo oo lis Sliasy
Lol s SO 50 o2 LS 0 ol golaer o ,leS IS 4 Waogs
ol il 4y et Sy 3l e oS K Ly 45 ol ol Ll
15 S lee 5 LI 5| 6 oy b 33l 5l 09, S a5 e
S reie Shan S9) i soed g iws (g wdle 4
Slalllas (] 52 oMl 29 JolS i yos 155 g0 Ygara 053 Ly
5B 5 B g9, oond JSE 4 3,505 a5 was e oLt
Bl Jndyshd wiiS oo )15 (89,5 45 (g3l 3 Vgass )l
SlpogS o JBIs patd e S (oo )5 ol 4 a5 s
057 S oo el (55t @l ool elsil (o, iales]

°® ( '/\(C/:? 298S3E 55V e o Spaslyan i R
l

@——
[~ Ju—

PN LC T

Oepss ool Job oS85 peeal el ¥ -v7
3929 LS je Bolal can @ilhds Jlo o e 0,105 ce

(595 o0l3l slasl) cusls
b3S o as Jee ade ololis gl qepajles () wyo Gub
L) S S oo ool JulS &35 yloj 51 coolidl slas!
509 JLS 1o Bolas cain o] g ylasaS K] oS o]

5298 3l cel Ojle Gl solgls oy ' -y
slapls 5 0bjygms 9 SBls Bnls 5 oS i &2y, b lagl;

e dd Ls'.’.|5—‘
(Proge ped b by By jpam e oS Sl ol () S
Sl and o2 ‘\“ 50 Sl 085 £4,0 1) s dlex
S o2 (1) ol ot WSy Cho 5 ol Sl o2 )0 D929

501 ol S wams g Jguibinl yo |, atan S Loy Y2 -YA

235 3,95 95 bt lalivg) 255 w35 Lig, S
alex Jebb (59,  elb suST yos 5l oolitl b alex ol 5o
alolddl wiilgs oo dels saST ples 0 oo 05T (ololins)
LY s ()) sloan 3 1z Llhawls alex Sl 0 b Jelé 5l an
JUONP I P E R RVIRPYIOAT PR REIPS PN RSP SR C N P g
LaS 1, (8 31 aSinl 0,3Vl g oS ool Jgmio b el
r:Lo.:l; o> e VLY ul?b.;‘ el o0l aiSl ‘;9.09.0 prew)

(X505 0,55 s> L a5 Sloliwg y iaile so

Jos o ,iSL iS5,k 5l e el S0 ¥ -va

«.l.:zao—l Ay oo,S @gie 3, 5l e S oo
oS il oud )b oligs Ly B9 el Sl e
S gl 5 s s S i £
ol oolawl = slols o (e o) ...both... and
S (8 5(¥) slean s 5) Bl S5 ol 4 425 Lo
l, by + gerund) L3 Lsls a5 col opl (£ JSCie oS
w).s L)"‘ aQ aS Sl od)j“— Qo> al.o} &’ 9 Sl OO)SJ )‘)S.a

g o0 ol o both jga>

Jlizl sb o b 0y B S5 p0 3,5 S5 e —Ae
Ao oo il 38l alanad slacigac g ad w4y Lol oDl

Cigie (U dltess () aes(¥) ool())

ded g v ol S S a ) e S Yase —A)
1 a8 S IS ailgi e refais (5955 (g 99,050 45 39500
e )l 8

by o150 (¥ s A5 ()

s (¥)

021-28425210 : 55 adbie o s sl slaialy 5o sLike

®



telegram.me/medabook_com www.medabook.com

— ( St pagoc sl s I) )@ ®

1 sl 5 3llas ol lemolS S iie 3k (F)
| b coodls 5 Lo (sl3é oy bl ()

S22 Slge 5 Sy plaS ke D! (gliss Vs -a¥
s i (3llas JlsolS 8515 oo ool 0050 45 00l Y0
il 3 B4y pazmie inlys oo (Y

AS Cgles Sllge> 5l wxalys o (¥

Axsl asly 6 3plle o138 4l il o ()

S S S lagmes Lai 4y winlss o ()

X PP @ cre o dlagy LS | YN
o S5 (¥
oS sl (2]

ole (¥

OD0r9n &S deepd d9d e Hsbinl e b2 -4#
N lié sl g

Sl o0 9955 9 Lagd (359 85ll 4 (¥

Cos (6,58 g5 oo Slalllas az (] 925l ()

3l ool 595 53kpky SIS E)

] 93 e

Slgisd el 0l 0L 1t golSggl Canguze a5 ol 28 Soayol
L)) jol e @ ol sljos 51 (36 & oo oS psbos] o
oyt oo Slo i | A (Sseme 3l 9algsl plasily o
rya @ gl e dl)l lagliste ) 5 laadls 25T 00 (53510 e
09 g ye o3 LS W b sals S Gl sl (25
SS 5l ol @ el i 50 0,8 e 1B eadnol Sy
el G55 smyo S 4 o5 el g 5olSggT (SUS
WS Su o ) ol e il O Jgeme g5 4 Cod Ssdie s
Sy g 0yedigS g 0,8 il 23,5 ()l B (oeaiS 43 1290
a1y 9l s] o Ll (soie o5 023, (09,8003 o & 500 3,
wand 65l e 4T S 5 il 093 0 lap s g la S glgil
el g ooldllg )5 e 53 (ass 5 (SiBar s (slye 9ol
Gla b 9ol gsl (ol ol slasl ol LT ias quag S8 cpl 4y ol
5 G oS 285 s s S i M el
fo,ls codlw gl (2blie az g0l gsl

S ol 4]y 9olssl Lz o o)ls vy b LY o5
e dlge g o el g 51 Lo ju 9olS g5l .aiiS so carog (3 Sy
Las 4 Slez gl 510l codles gl g0l j wlgd .conl vt
1S S eSS Lo b lsT ol 4 S eSS Lo ol
9 Al ) b Gy jall aiS (0 SS9 SRl 4 (S
A 5l ga S35 p 3o &5 558 1, plarge 5 Solex
037 S e S B glen Gl 6xSslr 4 oyl cote
el ot o3 455 Gl 1y s lS s 5 e oSS
@ 2l g a8 mhe WS (o0 SwS 5 09d oo ol Cu gl
wilay 3L ol o

230 31 o131 & gl [o55 ] Ugtus IS S5 lgie 4y 05,5
S e |y O SilgS oo 05,5 Az

St —AA
slp oo (1)

@ olep 4 (Y
i (8

¥ -Ad
il tacgame (¥ ail> (V)
Crand (i (2 b (¥

a2 g ol Cey ol (V) 0 olds cp ¥t -
o pylae IS5 o (B 5 (F) loanT 5)l cespie
5 (YY) 0 Ll oS JolS Wlgs oo 05900 965 o0 9 wload
Jstee o8 dlo Jod g Sl ool ol (s 4 alex gli2]

w395 JolS Wilgs oo 059,00 sl

#ise -4

Joe (B osee (¥ 8oy sty (1)

Yass -aY

Sy ol L (1Y)
= S1(Y)

s J> 0 (8

Jol e

Lmu—l A5 Coew Sl UKM d.Ua.a u|)|5:>oLf 6‘)-‘ uo;d-f..ﬂ
(5“5"} g_;y’.'aza ).va L&Jj AJ)PL,’_Q.I CM; Q‘)‘POL'S/ asle
IV )08 o JLS o 1) e 08 S g yud of pepss wiile
WS o bl |y sllae (g5lg50lS ol 8l a5 o 5ls vemg salisee
bl el 8385 ly ol olsie 4 b Sllser Lialol asle
I8 ol 4255 3590 3 45 )l 92y 55 65 S
slae 3 5,90 50 s dalllas ST SIS olo el a3 S
55 4SS lp pliee &5 Sl ola)lS o St 5 (S
sn Sro ey b 5ok e it ey el (s
Sl S dale an o 58 e CudisT Ag sl ol
o2ld ool lae Siysn lp s Sllse sl (lad b wisd
oy d lacpl g .0 oo ooliiwl ol ol 5l e oyl 05
VP sgas lal el logls Laigh co ()5 dolle S jLasl cely
Gl eagsS oo anllan (ol it oz IS (glalS 5l ooy
2 @ole Wgped S ooyl 4 ol ol I 6T olx
EropsS 223 B0 g pS oS CuligS o0 VO Wb ol slxS
WelS b gt 3o lg3olS aed Cans )13 andl 5,55 oS
a5 oSl s plaizr S8 wls Lol s 385 JUSTT ) elgS (40,95
0955 oo LS gl b Lagd 5 iS4 (2550
FaiS o0 Comy Sz A4z 9,50 50 i (fe ¥ -4y
Sloa> Y gama 51 san ()

FS SbsS (5995 Coeal (¥

E 021-28425210 ; 5SS aibia G yigr ladi) slaial ) 5o sl



telegram.me/medabook_com www.medabook.com

555 el 1) 5818 951 2laddles g0 Joro o Lasid (¥

A5 gz oMbl galS'g5l 550 0 85 aenai ()
w3551 5l ooz slacaS 5 gyl 4 Giala i Jsb ,o (8
355 (e 5o slaps]

Sy50 59 35 )l 51 S el Y SISLL 5.k oo Voo
§ s oy g0lS g

9)lo50 455 Sl o (e o 1) o g3 w3 (1)

2,1 355 ) cage e Slgo g Locyaliys ()

855 50 13 o1 b o lalag )5 5 U5 (1)
S g oy 1y (B (5 lors JgnlS o S5 L ()

(@

298S3E 5518 d)-wbw) e

WS i e i e ol Wase A
A slags, S (V)

gl 5o 5018 5] aliseo glsil ()

eds (6l Giable g a8 b 3 sgae SO ()

Sy r rog b.c).J Ssie b oses g5 S5 > [,iJ

OO IS e 4 ) 0ylee 51 S plas Yeie -aA
9"\’5&5" M?" 5‘>1535] LEgewy |) 0% g

USE S en® ol (1
S

S8y iy 90l 95] 390 )3 Gaios sl (1)

021-28425210 : 55 adbie o s sl slaialy 5o sLike

®

i



telegram.me/medabook_com www.medabook.com

g I )

Y.

Posletiag ol [PP—
k 4992 093] JL?&“EJ‘CJI’:J

® -~ i
1NN el P 0399
ﬁ‘ @
| 9 Z & . s o
L \V"—Méé[ﬁb&&d‘d&.&”dﬂ‘ﬂuﬁj
@ @
ﬁ * * KA 0~ Z &
bl sdaleilog yS
s B
\ :olbols o slas WU ESLPY L J
~ B, = =
L ALBs V0 1 98Bl Voo i Jlg—wohinse |
J
2955Bely Sun g S5 o leds oliel Gga3l piloxial Slge Hlg—ie
(@ﬁ“u o louis G ol 3| Jlgww Slaxs Sl olgo wa}
\ aids 1A Yo ) Yo s Slasl 9 L) !
aids Yo Bo (i Yo e o) \
aiLds Y Vo o Yo Ml Bylao g Somyd Y
aido Yo Yoo Vs Yo PN L3 [N Py ¥

021-28425210 : 55 adbin o e sl (sLaidly 5o sLike



telegram.me/medabook _com www.medabook.com

) dordo |/\/ f S90S (1903

o Sl

Part A: Grammar & Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words or
phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then

mark your answer sheet.

76. Fire blight, a common disease of apple trees, ......... with an antibiotic spray.
1) can sometimes be controlled
2) can sometimes control
3) by controlling, it can sometimes

4) it sometimes can be controlled

77. You’re always tired. If you didn’t go to bed so late every night, you ......... tired all the time.
1) weren’t 2) wouldn’t be 3) hadn’t been 4) haven’t been
78. Basal body temperature is ......... temperature of a healthy person during waking hours.
1) low 2) as low 3) the lowest 4) lower than
79. On nights when the sky is clear ......... , the earth’s surface radiates heat into the atmosphere.
1) and the air calm 2) or the air as calm 3) that the calm air 4) and calm is the air
80. | was surprised by the ......... of the choices that were available.
1) notice 2) variety 3) access 4) introduction

81. People are hungry for anything which gives their lives shape and sense of ......... .

1) purpose 2) emotion 3) ethics 4) symbol
82. After years of research, scientists have ......... the virus that is responsible for the disease.
1) founded 2) injured 3) appreciated 4) identified
83. The book ......... a 28-day workout plan that women can do at home or in the gym.
1) weaves 2) achieves 3) contains 4) imagines
84. Readers of the magazine said they wanted more stories about ......... people and fewer stories about the rich
and famous.
1) useful 2) elderly 3) advanced 4) ordinary

85. ........., until recently little attention has been paid to reducing the vast quantity of food that is thrown away

every year.

1) Correctly 2) Immediately

3) Surprisingly 4) Accidentally
86. The region where we go for our holidays is becoming ......... popular.

1) increasingly 2) generously

3) emotionally 4) primarily

87. She isn’t used to working for her own money; her husband gives her everything that she wants. She has
even crashed her new car. | guess it’s a case of ......... .
1) easy come, easy go
2) practice makes perfect
3) actions speak louder than words

4) don’t count your chickens before they hatch
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Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which choice

(1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

It is possible that sleep plays an important role in health, but scientists are not yet sure what it is. Some
psychologists argue that it allows the brain (88) ......... and store information. However, (89) ......... for scientists
to study sleep effectively because they have no way to find out exactly what is going through a person’s head
while he or she is asleep. What people remember afterward may (90) ......... accurate or complete. However, in
recent years, (91) ......... have been carried out with new technology that has made it possible to learn a great
deal more about sleep. Scientists placed special equipment on the heads of sleeping people to (92) ......... the
electrical activity of the brain. Based on the results of these studies, the scientists now think that sleep may
serve a number of purposes for the brain and the body.

88. 1) rest 2) resting 3) to rest 4) that it rests
89. 1) difficult 2) that difficult 3) there is difficult 4) it is difficult
90. 1) be not 2) not be 3) do not be 4) not being
91. 1) products 2) solutions 3) temperatures 4) experiments
92. 1) exist 2) respect 3) measure 4) prevent

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.

Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

A Plastic Ocean is a film to make you think. Think, and then act. We need to take action on our dependence
on plastic. We have been producing plastic in huge quantities since the 1940s. Drink bottles, shopping bags,
toiletries and even clothes are made with plastic. We live in a world full of plastic and only a small proportion is

recycled. What happens to all the rest? This is the question the film A Plastic Ocean answers. It is a documentary

that looks at the impact that plastic waste has on the environment. The impact is devastating.

The film begins as a journey to film the largest animal on the planet, the blue whale. But during the journey
the filmmakers make the shocking discovery of a huge, thick layer of plastic floating in the middle of the Indian
Ocean. This prompts them to travel around the world to look at other areas that have been affected. In total,
they visited 20 locations around the world during the four years it took them to make the film.

It is very clear that a lot of research went into the film. There are beautiful shots of the seas and marine life.
These are contrasted with scenes of polluted cities and dumps full of plastic rubbish. We see how marine species
are being killed by all the plastic we are dumping in the ocean. The message about our use of plastic is painfully
obvious.

93. What is the author’s main purpose in the passage?

1) To compare several filmmakers 2) To suggest a solution to a problem

3) To explain the causes of plastic dumping 4) To provide details about a documentary
94. The phrase “the rest” in paragraph 1 refers to ......... .

1) plastic that is not recycled

2) the world which is full of plastic

3) the question A Plastic Ocean answers

4) a small amount of plastic which is not reused
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95. According to the passage, the filmmakers who are shown in A Plastic Ocean......... .
1) are against blue whale hunting 2) do not plan to make a film about plastic pollution at first
3) spend over 4 years working in the Indian Ocean  4) do not film locations which are far away

96. According to the passage, which of the following statements about A Plastic Ocean is TRUE?
1) It is based on extensive research. 2) It takes attention away from marine life problems.

3) It mostly contains scenes of polluted cities. 4) It is hard for nonscientists to understand.

PASSAGE 2:

Culture shock begins with the “honeymoon stage”. This is the period of time when we, travelers, first arrive in
a foreign country. In this stage, everything about the new culture is strange and exciting. We may be suffering
from “jet lag” but we are thrilled to be in the new environment, seeing new sights, hearing new sounds and
language, eating new kinds of food. This honeymoon stage can last for quite a long time because we feel we are
involved in some kind of great adventure.

Unfortunately, the second stage of culture shock can be more difficult. After we have settled down into our
new life, working or studying, buying groceries, doing laundry, or living with a home-stay family, we can become
very tired and begin to miss our homeland and our family, friend, pets. All the little problems th_at everybody
in life has seem to be much bigger and more disturbing when you face them in a foreign culture. This period
of cultural adjustment can be very difficult and lead to the new arrival rejecting or pulling away from the new
culture. This “rejection stage” can be quite dangerous because the visitor may develop unhealthy habits
(smoking too much, being too concerned over food or contact with people from the new culture). This can,
unfortunately, lead to the person getting sick or developing skin infections or rashes which then makes the person
feel even more scared and confused and helpless. This stage is considered a crisis in the process of cultural
adjustment and many people choose to go back to their homeland or spend all their time with people from
their own culture speaking their native language.

97. What does the passage mainly discuss?
1) Who suffers most in the first and second stages of culture shock
2) Culture shock and success in a foreign country
3) Difficulties of moving to a foreign country
4) The first two stages of culture shock
98. It is suggested in paragraph 1 that in the honeymoon stage hearing new sounds and language ......... .
1) has a positive influence on travelers
2) sometimes makes travelers confused
3) is the most important source of entertainment for travelers
4) is more enjoyable for travelers than eating new kinds of food
99. The word “that” in paragraph 2 refers to ......... .
1) life 2) problems 3) everybody 4) culture
100. Which of the following statements about a person in the rejection stage is NOT supported by the informa-
tion in paragraph 2?
1) They may experience homesickness.
2) They may develop physical problems.
3) They may feel they are wasting their kinetic energy.
4) They may develop habits that are harmful to their health.
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